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'Reg. No.

IV Semester B.Com.2 / B.Com.3 Degree Examination, May/June 2018
FINANCIAL MANAGEMENT/ FUNDAMENTALS OF
FINANCIAL MANAGEMENT ‘
(Regular and Repeater)

Time : 3 Hours _ - ’ Max. Marks : 80

Instructions : 1) Attempt all the Sections accordmg to internal
: choices.

2) Use of simple calculators is allowed.
3) Section ~ D is compulsory..

SECTION - A
1. Answer any 10 of the following : . | (10x2=20) |

a) Define finance. '

b) What is financia! management ?

c) What is net present value ?

d) What do you mean by fair capitalisation ?
e) Define capital structure. |
f) What is capital gearing ?
'g) What is point of indifference ?

h) Define cost of capital.

{) What is negative working 6apitaj ?

j) What is weighted average cost of capltal ?

k) Find out book value of shares of ABC Co. Ltd. Sundry Assets Rs. 40,00, 000
Sundry liabilities Rs. 16,00,000, 40,000 shares of Rs. 10 each.

) PQRCo.issues?2 000 10% pre. shares of Rs. 100 each atRs. 95 redeemable

- at thé end of 10" year from the year of issue. Ca!cuiate cost of pre. share

capital. '
P.T.0.
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SECTION ~C

- Answer any two of the following : | . o (2%15=30)
7. Define financial management. Explain the functions of financial management.

8. What is over-capitalisation ? Explain the causes and remedies for
over-capitalisation.

9 Following is the information relating to Virat Co. Ltd., as on 31—3—2017

" 30,000 equity shares of Rs. 100 each Rs. 30,00,000
Share premium Rs. 10,00,000
Sundry creditors Rs. 10,00,000
Assets Rs. 50,00,000

The normal rate of return in the industry is 10%. Find out the capitalisation
status of the company if the earnlngs available to equity shareholders are :
1) Rs. 3,00,000 -

2) 5,00,000 and

3) Rs. 4,00,000.

10. Sadhana Co. Ltd., provides the following informations :

Liabilities | | Rs.  Assets Rs.

~ Equity share capital | F!xed Assets 5,00,000

(4000 shares of Rs. 100 each) 4,00,000 Current Assets 4,50,000
Retained eamings - 1,75,000
10% Debentures - 3,00,000
Current liabilities ' 75,000

' | 9,50,000 A i 9,50,000

Other informations :

Sales of Rs. 1,70,000, operating expénses including Rs. 30,000 as
depreciation Rs. 60,000, interest Rs. 30,000 and tax rate 50%.

1) Calculate operating, financial and combined leverage at the current level,
if all operating expenses other than depreciation are variable costs.

2) If sales level increases by 20% and if the sales level decreases by 20%,
what will be the earning per share 7 :
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| SECTION - D
11. Case study (compulsory question) : : . '('1x15=15)

Shri Raghu and Co. provides you the following_in_formation for the year
ending 31-3-2017. : ' ’

Sales at 3 months credit - : 750,000
Costs of raw materials - | - 3,00,000
Wages paid (15 days delay) - ~ 2,40;000
Manufacturing overhead (one month delay) 3,00,000
Administrative overhead (one mdnfh delay) A ’ 1,20,000 _
Sales promotion expenses to be paid in advance - 25,000

The suppliers of raw material allow one month credit. Raw materiqls are held

in stock for 2 months and finished goods are kept in warehouse awaiting

- sales for 1"/, months. Cash balance to be maintained is Rs. 25,000 and 10%
margin for contingencies to be provided for. The gross profit rate is 20% on
sales. Calculate working capital required for the year 2018.
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Reg. No.

Il Semester B.Com.3 Degree Examination, May/June 2018
BUSINESS ECONOMICS -1l

Time : 3Hours - | Max. Marks : 80

Instructions : 1) All Sections are compulsory.
TRl DR DTN FEYabONT,

2) All sub Sections shou!d be solved continuouisy at one
place.

e, JInvrie AN Lode 53 FOL0.
3) Draw diagrams wherever necessary.
DB FSVDD, e L3ZITIT) LBAO.

SECTION - A
AR - &
1. Answer any ten in two-three Sentences each. (10x2=20)
FINSHNVY, Wewos TIE HTE-THAH TENFY Bv3020.

a) What is perfect competition market ?
Boprer Fpees BRTTE] 20wSed ?

b)_ How do you classify markets based on Area ?
Bedn oo e RTOBE, WNereoes Bert SRERD ?

¢) Define monopoly.
DB, TS/

| d) What do you mean by Age discrimination ? Give example.
BoSReSRS Bo0Ze @oddeab ? LUTHTOEH NER.

e) Give the meaning of selhng cost.
BTk BBE $TE Ded.
P.T.0.
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f) What is penetration price ? -
230737 2363 Qed oT3e ?

g) Who was devéloped risk theory of profit ? |
eI Now03T k@aoéd@tgém@&dddo Rt ?

h) Give two reasons for wage differentials in same occupation.
2.0T3¢ ST/ VTSR, eNes 80O BONPOS FBYAE A0R> FTL0 PR

i) Distinguish between net interest and gross interest.
R 28 B0 whd) WA SRDT FZYR SREORD.
@ = o @ \ 3

i} Who has developed _quUidity preference theory of interest ?
B BRTRODS W, XTSI 03T HRFE RT3 9

k) Give two factors to limit the profit.
SR QST TR c;aozvirk:);s’gt BRR.

" ) What do you mean by Break Even Analyses ?
R -7, DB D05 ?

SECTION -B

WETRNR - W

Answer any three of the following. | (3x5=15)
BINTINTE), Bdemads ToRTE UUBORD. '

2. What are the types of monopoly ?
D8RR BE0RE IR ?

~ 3. Explain the features of oligopoly.
Fons m0,m300 oisaﬁ%ﬁaii DTOR0.
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4. Find out Total Revenue, Average Revenue and Marginal Revenue from the -

following data.

3INS 3032081 FTBODOOT wWhd), S0, R09E0 BTOD By 30283 ez

BOTROELBOND.

Mobile Price. ®)
SAYor B (Sn.)

5,000
4,000
3,000
2,000

1,000

Sold Units

5083 268 0IOREI TR

1,000

2,000

3,000

4,000

5,000

5. Explain the Loanable Fund Theory of Interest. .
FOWESON QT DPOD 2B mts%osdaigt DROXD.

6. Discuss the uncertainty theory of profit.
28500 SO ATHOBTRY BUF RO,

SECTION - C

Answer any two of the following.
BINTINTY, 3esot3 QTBE, YwI0R0.

RN -3

(2x15=30)

7. What is price discrimination ? Explain price and output determination under

discriminating monopoly.

o> 3208, 0B 7 T3ERy WEmw,RBA WS R0 euZHRd AP ORI,

- &%3DR0.
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8.

Explain the equilibrium of price and'outptit under monopolistic competition market
in short and long-run.

w0808 Sipess IARUD 158 T8 eude AERcORTRY v By

3)

DERFBRODY OTO2D.

Criticallf examine the marginal productivity theory of distribution.

- ©0uS U0ZS TBorsFob ATROBII) DeTOFFFTON TOBEOD.

10.

11.

Explain the liquidity preference theory of interest.
IR BOBRODT WA, AROBIR), IZ0ORD.

" SECTION-D
N - &3

Case let : R (1x15=15)
28 QB R?T, '

Calculate accountih’g and economic profit from the following data :

FINS Loseosnvon 53 word o) SQFT ooy BorEE0W0.

St. No. Particulars " Rs. (Saaannvd)
. goad QITENh ‘
1 Sales Revenue 1,000 crore
_ 300083 &5THOD A
2 Production cost - 500 ”
gy, |
3 Selling cost ' 100 i
| - Bwoow -
4 Depreciation charges . 50 "
: Re3BP 3323, -
5 - Rent on own building 50. ?
S R,08 B3E woar ‘
6 interest on his own capital 200 ?
ﬁdod WOBTY 20T wa

7 . Other expénditures A 100 "
233 ddj@o ~
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Reg. No.

IV Semester B.Com.3 Examination, May/June 2018 |
BUSINESS COMMUNICATION

Time : 3 Hours _ ‘ Max. Marks : 80

Instructions : 1) Answer all the Sections abcording to internal choices.
2) Due weightage will be given to neatness.

3) Use imaginary names and addresses, data etc. wherever
necessary. ’

SECTION - A

1. Answer any ten of the following. (10x2=20)
a) What is verbal communication ?
b) State the meahihg of editing.
¢) What do you mean by writing skills ?
d) Mention two occasions of writing in Business.
e) Give the meaning of routine messages.
f) What do yoLl mean by good news letter ?
g) Write two objectives of report.
h) What is periodic report ?
) Define an interview.
i ‘What do you mean by resume ?
K) Mention two negative effects of poor writing skills.

) What do you mean by audience analysis ?

P.T.O.
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Answer any three of the following.

2.

3.
4,
5.
6.

Answer any twc_i of the following.

7.
8.

SECTION - B

| (3x5=15)
What are the purposes of writing ? |
Briefly discuss the \“No" rules of conciseness in sentences.
What are the causes for writing a complaint letter ?
Explain in brief the features of report.

You are 'appointed as an “Accountant” in Médhu Company Ltd. Examba. Draft
a joining report. :

SECTION -~ C
(2x15=30)
Define Communication. Explain its objectives.

Write a letter of enquiry to Shilpa Elsctricals, K.C. Road, Chikodi, requesting

- them to supply necessary information about the various electrical goods. Appeal -

10.

Case study — Compulsory question.

11.-

to them to quote their favourable prices, terms and conditions and also draft
reply letter by Shilpa Electricals, Chikodi. :

What do you mean by Business Report ? Explain the significance and requisities
of good report. o ’

Nagaraj has completed Post Graduation in Commerce with distinction. Draft a
curriculum vitae for the post of lecturer in colleges.

SECTION - D

a) AsaHR Managerof a company what steps would you take for selecting the
- candidates for various posts in your company ?

b} As a good writer what factors would you consider for developing logical
paragraphs ? 3 :

¢} Students of your college have some genuine problems. They wish to bring
to the notice of Principal. Draft a report.

(1x15=15)
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SECTION-B

' Answer any three questions. Each carries five marks. = (3x5=15)

13,

14.
- 15,

16.
17.

Write an algorithm and draw a flowchart to find whether the entered number is
even or odd. \ _ - -

Discuss the input and output statements of ‘C’ with syntax and example.

Write a ‘C’ program to find current assets using the formula.
Current Assets = Current ratio x Current liability.

Explain the various services provided by Internet. ,
Describe the applications of 4 Ps of marketing in Internet.
SECTION -C

Answer any two questions. Each carries 15 marks. (2x15=30)

18.
19,
20.
21.

22.

Expiain in detail the steps involved in solving the problems using computer.
Discuss in detail the tokens of ‘c program with example to each.
Explain advertising on internet with its merits and demerits.

Write short notes on :
a) EPS

b) Telephone Banking
¢) ‘C' features. -

SECTION ~-D

Case study (compuisory). (1x15=15) -

Newton credit co-operative society invites you to write a C program to generate A
their FD certificate on the basis of following interest chart. '

a) If duration > 5 years than rate of interest is 8.5%.

b) If duration > 3 years and < 5 years than rate of interest is 7.5%.

c} i duration > 1 year and < 3 years than rate of interest is 7.0%.

d) If duration < 1 year than the rate of interest is 6.5%.

Input account holder name, account number, deposit amount, duration and

calculate the simple interest and maturity amount. Print the FD certificate with
all details.
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v Semester B. Com 2 Exammatlon ‘May/June 2018
(Repeaters)
HUMAN RESOURCE MANAGEMENT

Time : 3 Hours , Max, Marks : 80

Instruction : Attempt all questions according to internal choice.

SECTION-A

1. Answer any ten of the following : _ - ' (10x2=20)
-a) What is human resources ?
b) What is human resource planning ?
¢) What is human resource development ?
d) State any two objectives of HRD.
e) Define selection of employees.
f) What is training ?
g) What is promotion ?
h) Define job evaluation. .
) State two objectives of training.
i) What is Tele-Interview ?
k) What is absenteesm ?
f) Define Induction.

SECTION-B
Answer any three of the following : , ‘ (3x5=15)
- 2. Explain the advantages of HRM.
3. Explain ahy five types of interview.
4. Explain the functions of HRD.
5. Diséuss thé objectives of training.

6. Discuss any five methods of performance appraisal.

P.T.O.
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SECTION - C

Answer any two of the following : - (2x15=30)

7. Explain the functions of HRM.

8. Discuss the sources of recruitment. |

9. Explain types and methods of training. |
10. Explain the methods of Job evaluation. B
| ~ SECTION-D
Case Study (Compulsory guestion) : ' | (1x15=15)

11. a) Harsha Co. Lid. has to appoint 1000 employees in its various departments.

As a HR Manager suggest steps of selection of employees.

b) The absenteesm rate of Prabhat Co. Lid. is very high. As HR Manager
suggest measures to reduce the absenteesm.

c) State Bank of India has recruited 500 employees. They are totally new to
whole situation. As a HR Manager, suggest suitable types of training to

them.
3gB UF2
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IV Semester B.Com.3 Degree Examination, May/June 2018
(Regular and Repeater)
MODERN BUSINESS LAW

Time : 3 Hours ' Max. Marks : 80

Instructions : 1) Support your answers with Section numbers, cases and
examples. -
2) All questions are-.compulsory except internal choice.

SECTION-A

1. Answer any t_en of the following in one or two sentences each : (10x2=20)
a) Define a contract.
b) What is meant by consideration ?
c) Give the _me'aning of discharge of a contract.
d) What is meant by a quasi-contract ?
e} Give the meaning of indemnity.
f) What is meant by bailment ?
g). Whois a surety ?
h) How is the chief informatign commissioner appointed ?
i) What is the term of office of chief information commissioner ?
j) What is a cyber crime ? |
k) Give the meaning' of computer resource.

l) What do you mean by electronic governance ? -

P.T.O.
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. SECTION -B

Answer any three of the foliowing: o (3x5=15).

2,
3
4,
5

- 6.

Briefly explain the essentials of a valid consideration.

. Explain discharge of contract by performance.

Explain the rules relating to damages.

. Distinguish between indemnity and guarantee.

Write a note on removal of chief information commissioner.

SECTION-C

Answer any two of the following : | - (2%15=30)

7.
8.

10.

11.

12.

Give the meaning of agreement and explain the essentials of a valid contract.

‘What is meant by quasa-oontracts ? Enumerate the quasi contracts dealt with

under the contract.
Write a note on the nature and extent of surety’s liability.

Write a note on the constitution, term of office and conditions of service of the
state information commission and commissioner.

What is a cyber crime ? Explain kinds of cyber crimes.
SECTION-D

- Case study analysis (compulsory question) : ' (385=1 5)

a) Kallu, Mallu and Gallu promise to pay Rs. 1,50,000/- to Dallu. On due date,
Kallu and Mallu are not traceable. Can Dallu recover the amount only from
Galiu ? Comment. :

b) Shridevi advances a-ioan of Rs. 6,00 000/— to Vagdew a minor, on the
guarantee of Dulari. On the due date Vagdevi refuses to repay the loan onthe
ground of minority. Can Shridevi recover the amount from Dulari ? Comment.

¢) A member of Parliament or member of the legislative house of the state or
a person holding office of profit shall be appointed as the chief information
commissioner. Elucidate under RTi Act 2005.
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b) Do 20RO ?
€) wRomcd QRF S DorSeRd ?
d) e tiomiSocidesd ?
e) 3% Bom0R epF HS0S §ea0.
f) 23S o Baic EF DTS 80A0.
g) Mmoot ?
h) o), BRéd e303083 Besos Berordds ?

i) 0D, Rted G0 SO 2,2

) Ao exeg soddeb 7 |
K) domia,e0° Romsiae wad e s D@D,
) ;aci%qaf SRS Q0T8> ?

| EatA Y, SN
FNIZYOR et mug B0
2. wweird Yagion eagmoznds; Rogmon SORO.

3. Sosotod Brus KRt SRsF SR SHOR0.

(1ox2;20)

-~ (3x5=15)
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4. TEwomoE MoroRr OTTNTR) 23O,

5. 35 H0m00 358 mebmodne S FFAR) Wi,
6. atna) stnted exatgot IRABRDTT Sos> Rt 4438 103000,
| TN — 3 |
SINIRYTIVY Beross o0 eugon0: | (2x15=30)
7. Qzﬁowéﬁ 83 TET 95 eBd o2 mgd zuag_,édd ot éodﬂdaigt SNIOXD,
8. % e.sforiESondest P LRoracbd oS sy eaen RosEr s SmoR0.
9. 200 Eemmodad 3 dewm s ey 5% 1.0 4 30D,

10. 002 Tntod soleeric Sud b g Remomitp sy e Rodsabre 2508 .o
83353 LS00, .

1. Fuor emoog aocies 2 40 eRogng Peonds) oS0,
Ngon— ol |
| FOenogons g (B g 1 A (3x5=15)

12. a) gy, ey 2 3 R Suesch Bed Bdeoride. 1,50,000 mz:bdmmaﬂ SRBEZT.
madéd C)d*‘ Gw 2 R0 ey aamrb@ao R3O msdab Bey, dw&)&)od mg
smo dn@im* wad::m ? h3FR.

b). ©oeRd wwY PoERa e STTIRT mﬁe&)ﬁ $Be03x dw. 6,00,000/-
-wdao JeBOTY. 33 3 £TRZ30D $eod abed TR0 DEERToL) T DO
;bdamwéo'b& QoEORIZYY. B 3 edenndo Boendewd M OIB, d"
RIRBLBITe ? Sbe.@eﬁam :

C) 2w xiorsd Clam) To% GRTReIoD Ro3g, eomes oae,ﬂcsac:d)ﬁ BT BRoHTS tade
%godads B08), Btod SOI0ETIN BeDRBTONG, Zrodod azb wP™ 20053
- ORODA ad;eszpagoxa &920. :
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IV Semester B.Com.3 Degree Examination, May/June 2018
(New Syllabus) (Regular and Repeaters)
INTERNATIONAL BUSINESS ECONOMICS

Time : 3 Hours Max. Marks : 80
Instructions :1) AII sub-quest:ons should be answered contmuously at one place.
XD DR VTZ BN Lodde 8 ¢VZT 20800.

2) All Secﬁons should be answer in the same answer book.
DR, DI VSO worde eVBT TS, FODY, LITA0.
3) Diagrams should be drawn wherever necessary.
ORTY IIY Tewod3, a2

SECTION — A/Smrt— &

1. Answer any ten of the following in 2-3 sentences each. = (1 0x2=20)
BN Vet BR T B nion 2-3 w08 mfe; &UZ0D.
a) What is internal trade ?7
S0307 &39,T0T D0WTED ?
b) Dlstmgmsh between export trade and import trade
o) 0T SO a3, TRONY), 5,39, 0%0.
c) Who advocated the principle of absolute cost advantage.
V0T, [ ORgic AT 0BT, T, STORBTTDD ?
d) Name the original currency of italy.
B0 BeBT e FOR BITIY, BWO.
e) Mention any two types of terms of trade. A
530,500 BoTbnY cdRaTse DT> T,T0NIR), S9RO.
f) What is International Business ?
~ ©0300£0D BBHIT DOTBERD 2
g) What is forward exchange rate ?
RWOONE DIRIO TG 0TTe 2
hj What is import quota ?
E3300T TIeCIR0T (BReERD) 20B3ed 2
1) What is franchising ? A
DB To3F T E’Dedoéoﬁ (franchnsmg) @oddem 9 ' P.T.0.
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i) Where are the headquarters of IBRD and IMF.
IBRD abéo IMF ¢ 5,508 8e3e0nsh 9 9
K) Expand BRICS.
BRICS S, VRO WBCWD. _
) State any two objectives of WTO.
T, 239,300 ROPEIVOD AR HBRED emcieeﬁﬁ@&gl PO,

SECTION — B/dgni—2)

Answer any three of the following. o o _ (3x5=1 5)
39N Leors Dedd BInen evgose. | |

2.

Examine the factors determining terms of trade.
39,50 soadsﬁ@a‘% QT OO eosﬁm TOSeDD.

Explain the functions of forex market.
2Ted OITo0D RPFeodd TONFNRTR), DTORD.

. Explain the characteristics of international business.

e;eoSdca&god: aﬁﬁmdzs @imﬁ@ﬁ.gt NTORO.

Write note on ‘Devaluation of Indian Rupee'.
LTI BRTIOVCD wws:b‘aos 3002 £350£9 WGOWD.

Briefly explain the modern theory of international trade.
eoédcamo:b 2, TWTLE Slav xamosaaa O%wmﬁ WTWORD.

SECTION — C/enri - @

Answer any two of the following. A o (2x15=30)
FINT Wegoms 0@ I éﬁ@ﬁ HU30R0.

7.

Examine the comparative cost theory of international trade. Find out absolute

cost advantage from the following data: - A (10+5)
Product India China S

Cotton 80 units 40 units

: or or

Silk 40 units 80 units

This relates to production by one unit of labour.
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080RECD T,T0E DOTIT VYR AT, FOBEORO.  (10+5)
B9R sasé,ozs oazsiriq: €908 B0, NPon E)daieﬁ &36 e:aabmoémab F0BOBLRBOWD.
wmdd zpads z{,m '
B3 80 e3d 40 Pe3s

(CTaivn) T
3o 40 pe8 - 80 e
BB B BS BReDF 2,000 HES.

8. Critically examine the purchasing power parity theory of rate of exchange.
QVTOD BT BRW ZE IRRIID ATHOIT, tieTgTamon BOSEORD.

9. Explain the causes for disequilibrium in the balance of payment. Examine the
methods of correcting the BOP.

XKoo wododd wﬁm&awﬁ aadsaﬁ:?m [OXD. BT (BOP) xom@ROS
&)qsaﬁm*ab ToLeAAD.
SECTION = D/Stmn - &

Case study (Computs_ory)_. (1%x15=15)

10. Following are the items of exports and imports in respect of France.
SI.No. ltems In crores (Franc)
1) Export of goods » 85,000
2) Export of services A ~ 20,000
3) Export of machinery - 10,000
4 imports of goods A 65,000
5) Imports of services 25,000
6) Imports of machineries 18,000
7) Exports of wine 16,000
8) ~ Imports of wine A 11,000
2} Gifts received - ‘ 2,000

10) Gifts offered to India - 3,000
1) Capital received | 20,000

12) Capital payments 31,000

————— .
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Questions : |
a) Distinguish between visible trade and invisible trade.

- b) Prepare current account and capital account of BOP using above data.
) What is balance of payments position of France ?

foa;)cs AP (Gmod:)
T B Og) w08 BB woenieh B SYAZ03S.
3,53 Xoad, wweoned | Bacts (0, 085)NvQ.
1) xogone o i 85,000
2) Sessne o | 20,000
3) o0, oSN O 10,000
4) RO e 65,000
5) ReIne swomd 25,000
6) a0, TS e - 18,000
7 BT (wine) o 16,000
8 Som, TN (wine) e 11,000
9) SBG Trdsnis | | 2,000
10) 0SS DeRT Bordhred 3,000
11) TES wormY 20,000
12) | TRBIERT Loy 31,000
BB

a) reess ALY e:sriraczsd ) mdr{# W,B,X SO0,

b) doeeméms £30% xiogd ne ~m<maoc$ plolantevefant.love) W3 mzo WoBY
a:aém#m 3035200.

C) & 3‘ 036303 oo Wosod A8 O ?
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Reg. No.

IV Semester B.Com.2 Degree Examination, May/June 2018
{2011 - 2012 Onwards) (Repeaters)
Paper — Il : BUSINESS STATISTICS -1l

Time : 3 Hours ' o . - Max. Marks : 80

Instructions : 1) Use of simple calculator is allowed.

RAWSHWD: ROV NEasoR08E eumodnena SR SRETNE,
: 2) Statistical tables will be supp'f'ied on request.

A0 E FOTEIOL) EredFoD Foedit QeI

SECTION ~ A
TN —-

va

1. Answer any ten of the following.  (10x2=20)
tiezors B3 WInen «ugord. .

a) Define probability of an event.
20T FEISCD BogIRREORBONRY 39, VRO,

b) S ={1,2, 3, 4,5,6}and A = {4, 6}. Find P(A). :
S={1,2,3, 4,5, 6} XA = (4, 6} 2R P(A) 0o, BomoAoR0.

¢) Define random variable.-
BT B¥es 9,93, 3RO,

d) If E(X) = 4, then find E(3X + 5).
E(X) = 4 T3 E(3X + 5) G B0ty Jombieano.

e) Define Binomial distribution.
Qsadc:’i:a_e_xg AT [o]5-Tove) m;sa% 3RR0.

f) Specify the condition that Binomial distribution tends to Poisson d_istribut'ion. :
035253 DR @edn 8T IBTBAtD AT HI0BodRN [oRIF PRI ?

g) State mean and variance of Poisson distribution.
BRI DBTFBOD FTIRO Ty DICRNTR), Bewo.

h) Define standard normal variate.
QodE BTN, BWOBT 233,33, Be@D.

P.T.O.
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i) What do you mean by statistical quality control ?
FoNF rHeesors AODOZ D Q0TIBE ?

j) Define process control.
NON RO 20&1)03 £9T3 &30 336 TR&D.

K) V_Vnte down the control limits for X — chart.
X — 23T Q0D £d QSRR WECWD.

) i C = 4, write down the lower limit for C ~ chart.
C = 4 2w C — W3R 36NS DatoZeo DS wSW0.

SECTION -8B
QI ~ 2

Answer any three of the following. (3x5=15)
FIINSRNTE) Fewor m:ss SUBORD.

2. Abag contains 6 white and 4 biack bails. If one ball is drawn at random. What
is the probability of getting -
i) White ball
ii) Black ball ?
2,003 60T, 6 W BoB) 4 O WoRNTR. 20T WoBRY esa’%ﬁmh Sricon, 3rics wowd
) 2
i) 30 @dia Rorlmaecddd o ?

3. Find mean for the following distribution.
FSNT NBTHOI TR FoRIHBOD.
X: 0 1 2
P(x) : 0. 25 0.50 0.25

4. In a Poisson distribution if P(X = 0) = P(X = 1). Find P(X = 2).
B QA P(X = 0) = P(X = 1) 158 P(X = 2) & 13Saba Somssacke.

5. Arandom variable X follows normal dastnbutlon with mean and SD are 80 and 12,

then find P{X > 92).
2,000 3838 BB X ) RoORD B 20338 D3I BN 80 0 12 Brod BROTIT,
DBTFBODY, HRROTOTR. P(X > 92) d zidodam FoBBROVD. |

6. What do you mean by control charts ? Mentlon the types of control charts you

have studied.
acrbos £9 2333 DOTTER 7 Qezd) LPART Qo0 2 WITWEINY TFONIR, TewO.




A O A LA | 3 - 23426/D 260
 SECTION-C

YT —

Answer any two of the following. | | | - (2x15=30)
136503 HIBY, YUZORD, ’

7. a) What do you mean by sample space ? Give an examp!e
QBB LTTT D03 ? NI 3nR.

b) A bag contains 30 tickets numbered from 1 to 30. One ticket is drawn at
- random. What is the probability of getting a number multiple of 3 or 5 2
20030 wWewn, 1 00z 30 Rosd oot 30 3eesnTas. 2ot 23ea3oDR), SFZFN
RODEDNGS. 3 WosZ030 3 35w 5 T 10ea8 Ao moytsReods3 R 7

8. a) Define Poisson distribUtion. Give any three properties of Poisson distribution.
TR DBTBOD 9,83, BRA0. BT Fedd ROeTOF V) 3280,

b) In a college 20% of students are girls. In a random sample of 4 students,
find the probability that (i) no girls (ii) at least one gir!.
2,003 BTN, 20% HTURFNR BobPobDd BB, 4 WRPFNT
=838 dIFFRY. (i) 200 &Y RO (i) FF, 2.2 W& DTRHF BRedT
ﬁoaﬁd&eoﬁé@@{ﬁoc&aﬁo@w& B

9. a) Mention any three properties of normal distribution.
TRRg, FFCFHD WFE RNt RGO NI Bewo.

b) The wages of 1000 workers are normally distributed with mean Rs. 100 and
SD Rs. 10. Estimate the number of workers whose wages will be
i)' Between Rs. 90 and Rs. 110
iy More than Rs. 120.
1000 gernodd Rowslsd Boam0 100 B, 388 Q03 e 10 8. |T0E c:l,“?m%
TR SRRORIGE. ROWTY

i) dn. QOm&dra 110 © J&e3
ii) dr. 120 §08 Bed), |II é@,emddfooafobz&) EI0TVWA0.
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10. a) A person throws a fair coin. He gets Rs. 10 if head appears otherW|se he
loses Rs. 8. Find his expectation.

200 3 2,000 WY T&3 D2E Y EdTN s 3603» F0eeVToN oIS
dra 1 0 TECINTE. QQERTE TR, 8 ﬁ%ﬁm@o@d &3S aae&e%o:bds OB,

D) Draw su:tab%e control chart for the following data and glve the conclusion.
FINS TG, AT Do o WFTLIBR) TeIvd TRy Q53 VEFF ORI, BewO.

Sample No. | 1
SeYre Hozd, 1T[2(3}4]|5(86]|7 »8.. .9 .10_
| No. of defects
| Rnesine zio ") 2131413 |6{4]5]|14]3]|686
SECTION -D
agn-=&
11. Case Study analysis (Compulsory). ‘ | 15

BFTLo VLoD DB eRES (BTHOD T3).

Construct X — chart and R — chart for the following data and state your conclusaon
#9NS PR, X — 133Tw B R ~ UTS) Tesn0d R0 AR Deor ohI Bewo.

Sample No. Sample values @33 3SRy

DT Road 1 2 3 4
1 | 68 65 55 32
2 32 58 - 35 62
3 70 71 14 9
4 65 | - et 24 26
5 47 49 41 31
6 50 63 55 80
7 32 - 17 1 12
8 22 29 52 05

Givenforn=4,A,=0.729 D,=0 D, =2.28.
dpwsondn=4,A,=0.729 D,=0 D,=228.




R | | © 36426/D 260

‘Reg. No.

Fourth Semester B.Com.3 Degree Examination, MayIJune 2018
BUSINESS STATISTICS - I
(Paper - Il) (Regular and Fresh)

Time : 3 Hours | » | Max. Marks : 80

Instructions : 1) Use of simple calculator is allowed.
2} Statistical tables are supplied on request.

SECTION - A

- 1. Answer any ten of the following . S (10x2=20)
-a) Write the pmf of binomial distribution. | |
'b) Ifn =10, p = 0.4 then find variance of binomial distribution.
¢) i mean of Paisson distribution is 9. Then find its standard deviation. ‘
d) Write any two examples of Poisson distribution. |
') Define Standard Normal Variate (SNV).

~ ) The first and third quartiles of normal distribution are 20.5 and 42 5. Findits
- median.

g) Name the different measures of studying correlation.

h) State the nature- of correlation in the'following :
- 1) The colour-of cloth and the intelligence of a person -
ii) Sale of cold drinks and days temperature:

i) Differentiate between ‘defect’ and ‘defective’.
j} Write the 3-sigma limits of C-chart.
k) Define ‘feasible solution’ and ‘basic feasible solution’.

I) State the condition for applying binomial distribution.

PTO.
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SECTION - B
~ Answer any three of the following : o | (3x5=15)

2. The probability that an evening college student wﬂl graduate is 0.6. Determine
the probability that out of 5 students. :

..I) None will be graduate
iij Atleast one will be graduate.

3. if the number of mistakes made by a typist follows Poisson distribution with
mean 3, what is the probability that he makes at least 2 mistakes ?

4. Distinguish between ‘Assignable causes’ and ‘Chance causes’.

5. Forthe following TP find Initial Basic Feasible Solution (IBFS) by matrix minima

method.
Destinations
D1 | D2 | D3 | Supply
o1 2 2 3 .10
Origins [ 02 4 1 | 2 15
| - . 03 1 3 | 1 40
Demand 20 - 15 30 ' 65

6. Find the Spearmen’s rank correlation for the following data :

Economics Marks: 70 48 58 55 54 50 60 52
Statistics Marks : 62 47 53 60 55 68 51 48

SECTION-C
Answer any two of the following : A (2x15=30)

7. a) Write the properties of normal distribution.

b) The weights of 1000 students are normally dlstnbuted wsth mean 40 kg and
SD 4 kgs. Find the number of students with weight :

1) Less than 40 kg
i) Between 40 kg and 45 kgs. : ' (5+10)
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8. a) Explain in brief Shewart control chart.

b) A corhpany manufactures ball points for pens. Samples of 200 ball points

each are observed for defectives and the results are recorded as follows :

Sample No. 1 2| 3| 4 5 6| 7 8 9 | 10
INo.ofdefectives: | 10 | 16 | 7 |43 | 18|26 | 30 | 33|26 | 29 |

Draw p chart and give your comments. _ | - (5+10)

8. a) Write the steps involved in North West Corner rule of transportatibn
problem. .

b) Find initial basic feasible solution to the following TP by Vogel's

approximation method. , (5+10)

Destination

Factory Dt | D2 D3 | D4 Supply
F1- 3 3 4 1 100

F2 4 2 4 2 125
F3 1 .5 3 2 75

| Demand 120 | 80 75 25 | 300

10. a) .i) Name the types of correlation.
i} Mention the properties of correlation co-efficient.

b) Find the coirelation between sales and adverfising éxpenditure for the _
following data. T | : (5+10)

Sales (Rs.inlakhs) | 65 | 66 | 67 [ 67 | 68 | 69 | 70 | 72

Advt. Expenditure 67 | 68 [ 65 | 68 [ 72 [ 72 | 69 | 71
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SECTION - D
' 11. Case study analysis. - - . | . (1x15=15)
The following data is the price and demand of a commodity.
Price(Rs) | 10 | 12 13 12 16 15
Demand | 40 | 38 | 43 | 45 | 37 | 43

a) Calculate the two fegreséion equations and estimate.
b) Estimate the likely demand when the price is Rs. 20/-.

TR U3
NP — &
1. AR BemT 10 mugono: | | (10x2=20)
a) QBciney HIcEaD pmE ) LS00, |
b) n= 10, p = 0.4 BR O,TcPeE DITHCH DBCS FoBBARD,
c) ajraema‘ ebédﬁoda RODROCOI0 9 BTN, t‘acfd O3 D ffoabao@oooo
d) Zpewa® é)aideao:b QTR NTHBT BRRO.

e) o3 A wm% BB o5,%3, m@c-

f) gmmg BOBBQ 13e ) 33¢ 13253 20 5 0B 43.5 2T, o8
mqg,ﬁm socsoao@oooa ~

N g) 23¢3 23eT e2¢iB0d Nﬁowodﬂvaﬁgﬁmm.
h) Benaisyrion sesowor & sy BRoR0
1) wedpsd e 02 o Wores
il) B0 TRV =TvE T3 DI TR,
) S 20; cineiong SRNY FaAS) k0.
j) C-2333 36 avarex wdowe.
K) &eawer = wawa D) BT Peawer Foz0n OaLA ira@a
) OFcRe DEtReR) > BRRITS L3ead 3020,
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(3x5=15)

2. Row Todend ATRHF BDegIoTorI NOWQ?) 0.6 2023, wid), 5 DTN @rrﬁe:@
i) cande BEeITINRIe At FoggRasd ? '
i) s Lond 22 DTROF aidaeddmrbd Rorgesad ?

3. ity IR RS RS SR Aot AoV 3 SR pemR DITRORYERROIT
O

4, u&wdod 508D 3 ST 08 NS aﬁ,@ RS $920.

5. 8 3INS moroeds n'ab:gﬁ =0, gv-m P Bw003T faaeeao:ov tIers*
&exer $0FT3 (IBFS) 6oczbaoacmo

o AT s s:b.radg WSGR:O

d@ca{a‘;
D1 D2 D3 Zpde
o1| 2 2 3 10
| WOLSS, 02| 4 1 2 15
o3[ 1 3 1 40
| Sead| 20 15 30 65
6. B3NS ﬁo&%ﬂ@ﬁ R:LCGDG‘E&JE‘ Beed #dh’owoqﬁaiaigt B0 BOD o
. egrmRrbro: 70 48 58 55 54 50 60 52
- RoamBeR, 180 : 62 47 53 60 55 68 51 48
Do - 8
| Benon aowd, CugoRo: | (2x15=30)

7. a) Txowvag, HITFHOD rOERBLARYR) WSO,

b) %08 O3B HTRFNY 208y FRORRT, wosmhcb RowRo me 40 .2, oV
DRI 4 3.2 tadaszs Sod:
) 40 3.23. A0S IR BRBT e DT, HF L [TUOIT €302 BOLRIZBOWD.

i) 40 .28 208 T3) 45 8.2 ©030BY. ), DTPFTID ABTRS 03
FomBBBOND. |
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8. a) 3eano* ?Dod)ogea zsgdzb RosZmN éb,obfqo

b) 2,023 Beatdodw 23ver Tooos w@l& Z0370m03a3. 200 zpe* TOOW0ET zodsrad@
3 &*nd@ BReROINE €203 TORBZINGS :

degremesd: |12 (3|4fs5|e6[ 78910
dackokogxod:. |10 [ 16| 7 |43 | 18 | 26 | 30 | 33 | 26 | 29
P ~ D) Tosh, AR SRTDOD Bewd. - | (5+10)

9. a) =oR #ab:;ab ST F-J2° IFT® WROCE DGORE WERES BoINTD 3, 8920.
b) Sprier- R e e abamoeﬁd NI waﬁ "do,%o:ada

BOREBND. (5+10)
3 G
D D1 D2 D3 D4 R
F1 3- | 3 4 1 100
F2 4 o 125
F3 1 5 | 75
dead | 120 80 75 25 300

10. a) i) RBRoword BEOATR) BROKO.
i) RwRowor rommods roregarvs) soro.
b) 8380 ARG, Tr0ows THF) WaToD) AYNY n’aﬁozoozﬁdaigﬁodaao@oma (5+10)

SRoees (wgsanvd) [ 65 | 66 | 67 | 67 | 68 | 69 | 70 | 72

Wi br | 67 | 68 |65 | 68 | 72 [ 72 | 69 | 7+




A0 0 RO oz
' | TN — cs
1. g ods Beoe QFRT.
2,00 SRV BS TR WeRBNIR), B3 39N dRBOONGS :
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(1x15=15)

d8(dn): | 10 | 12 13 12 | 16 15

Wehd: 40 38 43 45 37 ). 43

) S0ER Lotdom RRoeFTENYR) BoRLRCO.
b) e3eSadn 20 dezo faa%r{.' 3e88 D B3PI €303 ¢30T302I0.
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Reg. No :

IV Semester B.Com.3 Examination, May/June 2018
CORPORATE ACCOUNTING - 11
Compuisory

Time : 3 Hours : o : Max. Marks : 80

Instructions : 1) Attempt all Sections according to Internal choice.
2) Simple and non-programmable calculators are allowed.
3) Give working notes wherever necessary.

SECTION — A

1. Answer any ten of the following : (1 0x2=20)
a) Name the types of amaigamation recommended by AS-14.
'b) What is purchase consideration ?
¢) What is joumnal entry for formation expenses incurred by transferee .co‘mpany ?
d) State the steps in accounting fof amalgamation. ‘
e) What is holding company ? .
f) What is wholly owned subsidiary. company ?
- @) State any two examples of contingent liabilities.
h) What.is forensic accounting 7 |
i) What do you mean by creative accounting A?
i) St_ate any two éxamples of creative accounting.
k) What is accounting entry when capital reduction émo(mt is utilised ? |

[) What do you mean by recdnstruction of a company ?

P.T.O.
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SECTION - B

Answer any three of the following :

(3x5=15)

2. Sangeeta and Company Ltd. suffered heavy losses. A scheme of reconstruction

was adopted on the following terms

i) In cancellation of 80,000 old shares. of ¥ 10 each the new shares issued

were :

'a) New equity shares of T 10 each to the extent of g of old shares; and

b) 5 % preference shares of ¥ 10 each to the extent of g of old shares. - _

i} Forthe purpose of internal reconstruction credit balances of general reserve

¥ 20,000 and profit and loss account of ¥ 10,000 were also applied.

iiiy The amount so available were to be utilised to write off goodwill ¥ 80,000
and also to reduce the values of furniture by ¥ 15,000 and debtors by

¥ 30,000.

Pass the journal entries for the above in the books of Sangeeta and Company Ltd.

3. Akka Ltd. purchased 80 % of equity shares at ¥ 150 per share of Amma Ltd,

as on 1-4-2013. The following data as on 31-3-2014 is given to you :

Equity share capital : A
5,000 equity shares of ¥ 100 each - ~ 5,00,000
Reserves and Surplus : A ‘

General reserve -1,00,000

Surplus 150000 - 2,50,000
Current liabilities  1,00,000
Fixed Assets - . 4,50,000
Discount on issue of shares ’ 50,000

Calculate cost of control and minority interest.
4. What are the conditions for amalgamation in the nature of merger ?

5. Explain the techniques of creative accounting. -

|
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6. X Company Ltd. takes over the business of Y Company Lid. The share capital
of Y Co. Lid. consists of 2,000 equity shares of 100 each fully paid and 1,000
preference shares of ¥ 100 each fully paid. The debentures are 2,000 of T 100

each. .
X Company Ltd. has agreed as under :

1) To issue 6 preference shares of Z 100 each for every 8 preference shares
“inthe Y Co. Ltd.

2) To issue mortgage debentures at % 96 in lieu of debentures of Y Company
Ltd. which are to be redeemed at a premium of 20 %.

3) To pay T 25 per equity share in cash and to issue 5 equity shares of T 100
each at the market value of ¥ 120 each in exchange for every four (4) equity

shares held in Y Company Ltd.
Calculate purchase consideration.

SECTION-C |

Answer any two of the following : - | (2x15=30)

7. Slow Ltd. is absorbed by Quick Ltd. The following is the Balance Sheet of~ Slow
Ltd. as on 31-3-2017. ' ’

Particulars | Note No.  Amount
| Equity and Liability :
1) Shareholders Funds :

Share capital- | ' 1 3,00,000
Reserves and Surplus 2 50,000
2) Non-current Liabilities : - o -
Long-term borrowings : 8 % debentures 20,000
3) Current Liabilities : __
Trade Payables : Sundry creditors . 10,000
Total equity and liabilities 3,80,000
Il Assets : ' _ E

1) Non-current Assets :
~ Fixed Assets: _ : .
Tangible Assets 3 2,10,000
intangible Assets : Goodwill ‘ 40,000
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2) Current As.éets :

Inventories : Stock | | 60,000
Trade receivables _ . 4 65,000
Cash and cash equivalents - Cash in hand " 5,000
Total Assets | 3,80,000

. Notes to Balance Sheet as at 31-3-2017
Note 1 : Share Capital ‘ .
2,000 equity shares of Z 100 each fully paid-up 2,00,000
1,000 preference shares of ¥ 100 each fully paid-up 1,00,000

Share capital A 3,00,000
Note 2 : Reserves and Sumius |
General Reserve _ : 50,000
Surplus _ | | | -
Reserves and Surplus 50,000
Note 3 : Tangible Assets :
Buildings - | 1,30,000
Machinery =~ | | | 80,000
Tangible Assets : 2,10,000
Note 4 ; Trade Receivables '
Sundry debtors . ‘ ‘ - 30,000
Bills receivabie ‘ . 35,000
Trade receivables ' 65,000

Quick Ltd. has agreed :

1) To issue six preference shares of 100 each in the Quick Ltd. for every
eight preference shares in the Slow Ltd. -

2) To issue to debentureholders in Slow Ltd. mortagage debéntures at
-~ I96inlieu of 8 % debentures in Slow Ltq. which are to be redeemed
at a premium of 20 %_ o C

4) To take over the sundry creditors. -

Show the necessary accounts in the books of Slow Ltd. and pass the opening
entries in the book of Qu_ick Ltd. ‘
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31-3-2017 :
Particulars :
1 Equity and Liabilities :
1) Shareholders Funds :

Share capital ' : 1 1,00,000
Reserves and Surplus 2 70,000
2) Current Liabilities : N
Trade Payables : Creditors 20,000
Total equity and liabilities 1,90,000
Il Assets :
1) Non-current Assets
Tangible Fixed Assets : Building 90,000
Non-current Investments 3 28,000
2) Current Assels : |
Inventories : Stock 25,000
Trade Receivables : Debtors 35,000
Cash and Cash Equivalents : Bank 12,000
Total Assets ’ 1,90,000
Notes to Balance Sheet as at 31-3-2017
Large Ltd.
Note 1: Share Capital ‘
Shares of ¥ 10 each fully paid-up ©1,00,000
Share capital 1,00,000
Note 2 : Reserves and Surplus
| General Reserve 40,000
Surplus : Balance in P & L Alc 30,000
Reserves and Surplus. 70,000
Note 3 : Non-Current Investments
Shares in Little Ltd. (at cost) 28,000
Non-current Investment 28,000
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8. The followmg were the Balance Sheets of Large Ltd. and Little Ltd. as on

Note No. Large Ltd. Little Ltd.

20,000
Nil

7,000
27,000

10,000

8,000
7,000
2,000
27,000

Little Ltd.

20,000
20,000

3,000
(-) 3,000
Nii

When the Large Ltd. acquired 80 % of the shares in Little Ltd., the latter had
a credit balance to P & L A/c T 2,000 and to general reserve T 3,000. The
buildings of Little Ltd. were found to be overvalued by T 1 000 at the time of -

purchase of shares.
Prepare the consolidated Balance Sheet.
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called AB Ltd. with a nominal capital of 50,000 shares of ¥ 100 each hag been
formed to take over the above concerns on 31-3-2016. The following are the
agreed balance sheets of the two companies :

Particulars : Note No. - Akash Bhoomi
: ' Ltd. Ltd,

I Equity and Liabilities -
1) Shareholders Fund : _
Share capital 1 1500000 10,00,000

Reserves ang Surplus 2 6,00,000 4,00,000
2) Non-Current Liabilities : | |
Long-term borrowings 3 4,00,000 | 3,00,000
3) Current Liabilities -
Trade Payables : Creditors | | ~ 1,00,000
Total Equity & Liabilities 25,00,000  18,00,000
N Assets : .

1) Non-current Assets :

‘Fixed Asséts :

Tangible Assets ‘ 4 13,00,000 9,00,000
~ Non-current Investments - 5 3,00,000 o ,00,000
2) Current Assets - . |

Investments : Stock | 4,00,000  3,00,000

Trade Receivables : Debtors | 3,00,000  4,00,000

Cash and Cash Equivalents : Bank A A 2,00,000 - 1,00,000

Total Assets _ . ‘ 25,00,000 18,00,000




Note 1:

Note 2 :

Note 3 :

Note 4 :

Note 5 :

EUNEREREN L

Noies to Balan_ce Sheet as at 31-3-2016

Share Capital

Shares of 100 each fully paid
Share Capltal |
Reserves and Surplus
Dividend Equalisation Fund
General Reserve

Reserve

Surplus : Credit Balance in P & L Afc

Reserve and Surplus
Long-term_ Borfowings
Secured Loan
Unsecured Loan
Loﬁg-term borrdwlngs
Tangible Assets

Land and Buiidings

Plant and Machinery
Tanglble Assets
Non-Current Investments
In Govt. Secu'riti.es |

In Company shares

| Non-current investments

Akash Ltd.

15,00,000
15,00,000

1,00,000

2,00,000

3,00,000

3,00,000
6,00,000

4,00,000

4,00,000

8,00,000
5,00,000

13,00,000

3,00,000.

3,00,000

36423/D 230

Bhoomi Lid.

10,00,000
10,00,000

2,00,000 -

2,00,000
* 2,00,000
4,00,000

3,00,000
3,00,000

5,00,000
4,00,000
9,00,000

1,00,000
1,00,000

Ascertain the purchase consideration payable to each of the above companies
and prepare the Balance Sheet of a new company. |
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10. The Balance Sheet of Vijay Co. Ltd. on 31-3-2015,

Particulars Note No. Amount
I Equity and Liabilities : '
1) Shareholders Funds - _
Share capital 1 7,00,000
~ Reserves and Sumlus | 2 (~)1,80,000
2) Non-current Liabilities - : :
Long-term borrowings ' : 3 50,000
3) Current Liabilities -
Short-term borrowings 4 10,000
Trade payables : , 5 40,000
Total equity and liabilities £ 6,20,000
Il Assets :
1) Non-current Assets :
Fixed Assets :
Tangible Assets _ 6 4,50,000
Intangible Assets - 7 30,000
2) Current Assels - : A |
Inventories - 8 35,000 i
Trade receivables | 9 85,000 |
Cash and cash equivalents 10 20,000
Total Assets 6,20,000 z
- Notes to Balance Sheet as at 31-3-2015 '
Note 1 : Share Capital | ’ |
Authorised Capital
...... 9 % Preference Shares of ¥ 100 each XXX
...... Equity Shares of 7 100 each XXX
Issued, subscribed and paid-up capital
2,000 9 % Preference Shares of ¥ 100 each fully paid 2,00,000
5,000 equity shares of ¥ 100 each fully paid 5,00,000
Share capital : 7,00,000
Note 2 : Reserves and Surplus )
| Reserves | - Nil
Surplus : Debit balance in P & L A/c (Loss) (-) 1,80,000
Reserves and Surplus : (~) 1,80,000
e
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Note 3 :
Note 4 :
Note 5 :

Note 6 :

Note 7 :
Note 8 :
Note 9:

Note 10 :

Long-term Borrowings
10 % Debentures

Long term borrowings
Short-term borrowings
Bank overdrafts
Short-term borrowings
Trade Payables
Sundry creditors

Trade payables
Tangible Assets
Buildings

Machinery -

Tangible Assets
Intangible Assets
Goodwill

Intangible Assets
Inventories

Stock '

Inventories

Trade Receivables
Sundry Debtors

Trade Receivables
Cash and cash equivalents

Cash in hand

- Cash and cash equivalents
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50,000
50,000

10,000
10,000

40,000
40,000

'2,00,000
2,50,000
4,50,000

30,000
30,000

35,000
35,000

85,000
85,000

20,000
20,000

The following scheme of reconstruction is adopted with the consent of all :
a) The preference shares be reduced to T 75 per share fully paid.
b) The equity shares be reduced to ¥ 50 each share as fully paid.

¢) The debentureholders to take over the stock in full satisfaction of the
amount due to them.

d) The amount so available be used to write off goodwill, losses and to

depreciate buildings and machinery at 10 % each and write off bad
debts T 10,000.

e) The repayment of the bank overdraft.

Pass the journal entries and prepare the revised Balance Sheet of the
company after reconstruction.
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SECTION - D
Compulsory - Case Study. (1x15=15)
11. The Balance Sheet of Ashok Ltd. on 31-3-2015 is as under :
Particulars Note No.  Amount
| Equity and Liabilities : |
1} Shareholders Funds _ .
Share capital 1 7,00,000
Reserves and Surpius 2 (-) 1,80,000
2) Non-current Liabilities -
lLong-term borrowings 3 1,00,000
3} Current Liabilities - _
Short-term borrowings 4. 40,000
Trade payables 5 90,000
Total Equity & Liabilities 7.50,000
Il Assets :
1} Non-current Assets -
Fixed Assets : )
Tangible Assets 6 5,50,000 -
Intangible Assets 7 30,000
2) Current Assets :
inventories 8 75,000
Trade receivables 9 85,000
- Cash and cash equivalents 10 ‘10.,000
Total Assets 7,50,000
Notes to Balance Sheet as at 31-3-2015
- Note 1: Share Capital
“Authorised Capital
2,000 8 % Preference Shares of T 100 each 2,00,000
10,000 Equity Shares of ¥ 100 each 10,00,000

. Issued, subscribed and paid- up capital

2,000 8 % Preference Shares of ¥ 100 each fuily paid 2, 00 ,000
5,000 equity shares of ¥ 100 each fully paid

Share capital

5,00,000
7,00,000
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Note 2 : Reserves and Surplus

Reserves - Nil

Surplus : Debit balance inP &L Alc (Loss) {(-) 1,80,000

Reserves and Surplus -. - (=) 1,80,000
Note 3 : Long-term Borrowings ' |

10 % Debentures o 1,00,000

Long-term borrowings - 1,00,000
Note 4 : Short-term borrowings

Bank overdrafts | N 40,000

Short-term borrowings - , 40,000
Note 5 : Trade Payables '

| Sundry creditors 90,000

Trade payables _ 90,000
Note 6 : Tangible Assets :

Freehold property : e 2,50,000

Plant and Machinery 3,00,000

Tangible Assets A : 5,50,000
Note 7 : Intangible Assets _ ‘ ’

Goodwill 30,000

Intangible Assets R | 30,000
Note 8 : Inventories o

Stock 75,000 -

Inventories | 75,000
Note 9 : Trade Receivables - B

Sundry Debtors ‘ 85,000

Trade Receivables | ' 85,000

Note 10 : Cash and cash equivalents
Cash in hand ‘ 10,000
Cash and cash equivalents ‘ 10,000

The business was passed through a depression and the worse seems to
have been over. The following scheme of reconstructton is adopted with
the consent of alt and approved by the court :

i) The preference shares be reduced to T 75 per share fully paid, but the
rate of dividend increased to 15 %.
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i) The equity shares be reduced to ¥ 50 per share fully paid.

iii) The debentureholders to take over the stock-in-trade in full satisfaction
of amount due to them. -

iv) The amount available be used to write off goodwill, preliminary expénses,
P & L A/c balance and depreciate freshold property and machinery at
10 % and write off bad debts ¥ 10,000. -

v) The issue of 2,000 equity shares to the public for cash.
vi} The repayment of bank overdraft.
a) Prepare the revised Balance Sheet after reconstruction.

b) You are required to make comments on the above scheme of

~ reconstruction on the reduction of the quantum of amount in preference -
shares, equity shares, sacrifice by debentureholders etc. and also on
the fresh issues of shares by the company to the public.

ST
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WV Semester B.Com. 2 Degree Examination, May/June 2018
- - CORPORATE ACCOUNTING - Il -
“(Paper - ll) (Repeaters)

Time : 3 Hours | | . Max. Marks : 80
Instructions : a) Attempt all Sections according to Internal choices.

- b) Simple and non-programmable calculators are al!owed
c) G:ve workmg notes as part of answer. :

- SECTION-A
1. Answer any ten of the following : | (10x2=20)
a) What is atnalgamat_ion of cemp'anies ?
* b) What is internal recjons'tructi'on ?

¢) What is purchase consideration ?

-d) What is minority interest ? ” »

e) Name any four operating eipensee ef a bank.

f) What is unreal:sed profit ?

g) State any two advantages of amalgamataon of compames

h) Expand the term NPA and NBA. o
i) When do you suggest for internal reconstruction of a corﬁpany ?
i) What is cost ofcontrol 2 |

k) Give the ineanin_g of absorption of company.

- 1) Name twe examples of contingent liabilities of a banking company.

P.T.0.
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SECTION - B | |
Answer any three of the following : ’ (3x5=15)

2. Ashok Co. Lid. decided to go for internal reconstruction which was approved
by the court. o
The scheme of reconstruction is as follows -
i} 1,00,000 equity shares of Rs. 10 each fully paid be reduced by Rs. 7 per
share as fully paid. o
ii) 20,000 preference shares of Rs. 100 each fully paid reduced by Rs. 20
per share. : | : : | B
iii) Reduction amount of share capital is utilised to. write off accumulated
loss balance of Rs. 3,60,000 preliminary expenses Rs. 1,00,000 and the
balance is used to write off the patents, -

e o e kadissa:

Pass journal entries to give effect to the scheme of reconstruction.
3. Compute purchase consideration, Goodwill or Capital Reserve from the _
- following information : ‘ » '

Arati Ltd. and Bharati Ltd. have decided to amalgamate and form a hew
company Arati Bharati | td. when their position was as follows.

Particulars AratiLtd. Bharati Ltd,

- : - T Eq |
Assets . - 6,00,000 5,00,000
Liabilities | o - 2,00,000 1,50,000
Equity Shares Capital of Rs. 10 eachi 4,00,000 3,50,000

Arati Bharati Ltd. agreed to issue 40,000 Equity shares of Rs. 10 each at a
" premium of 5% to Arati Ltd. and 30,000 Equity Shares of Rs. 10 each at a
premium of 10% to Bharati Ltd. ‘ '

4. From the following information calculate minoﬁty interest and cost of control :

Particulars S ' Holding Co. Subsidiary Co.
_ - 4 T
Share Capital of Rs. 10 each _ 10,00,000 5,00,000
Reserve on 1-4-2015 ' 30,000 30,000
Profit on 1-4-2015 _ 20,000 - 25,000
Total Reserve on 31-3-2016 180,000 1,00,000
Total Profit on 31-3-2016 : 40,000 80,000

Holding company purchased 80% of shares of subsidiary company on 1-4-2015
at Rs. 15 each:. : o :
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5. From the following information prepare the Profit and Loss A/c of Basavsri
Bank Ltd., for the year ending 31-3-2015 : ‘ '

: T .
Interest on loan earned 2 S 4,00,00
~ Interest on deposit paid : : 2,00,000
Commission and Brokerage received 1,50,000
Salary to employees ' 95,000
Directors fees | | ' | 15,000
Printing and stationery : : : 2,000
Audit fees ‘ ' ' ’ 3,000
Additional Information:
i) Make provision for taxation Rs. 10,000.
iy Make provision for statutory Reserve.
iii) Make provision for doubtful debts Rs. 25,000.
6. Explain the various methods of Purchase Consideration.
| SECTION - C
Answer any two of the following : o } (2x15=30)

7. Followin'g is the Balance Sheets of A and B Company Ltd. for the year ending
31-3-2015 : ' ‘ '

Liabilities ALtd. BlLtd. Assets A Ltd. B Ltd.

| 4 T : 4 7
Equity Sharesof = Gooedwill  1,90,000 60,000
Rs. 10 each fully paid 10,00,000 5,00,000 Buildings  5,00,000 2,50,000
Reserve Fund -~ 2,90,000 1,75,000 Machinery 3,00,000 1,95,000

Profit and Loss A/c 1,10,000 75,000 Patents 35,000 -
Creditors = - - 47,500 Stock 1,30,000 90,000
Bills Payable - | — 2,500 Debtors  2,10,000 1,75,000
| Cash 35,000 30,000
14,00,000 8,00,000 - 14,00,000  8,00,000

New company AB Company Ltd. has been formed with an authorised capital
of Rs. 25,00,000 divided into 2,50,000 equity shares of Rs. 10 each.

Calculate the amount of purchase corjsideration payable to each company and
draw up the amalgamated Balance Sheet of the new company AB Company Ltd.
assuming that the payment is made in fully paid shares of AB Company Ltd.
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Bank Ltd. as on 31-3-2015 :

4

80,000 shares of Rs. 10 each fully pa:d

Statutory Reserve

Profit and Loss A/c (Balance on 1-4-2014)

Current Deposit

Saving Bank Deposit

Fixed Deposits

Borrowing from other Banks . -
Employees Seéurity Depoéit

Cash in hand | .

Balance with Reserve Bank of India
| Balance with Banks |

Money at call and short notice .
Investment in Government Securities
- Investment in Approved Securities
Invés_tment in Shargs

Bills purchased and discounted
Cash credit and overdraft

Building (Cost Rs. 2,00,000)
Fumiture (Cost Rs. 1,00,000)

Inter Office adjustment (Dr.)
Interest accrued on investment

Net profit for the year:

T LR

8. The following are the balances extracted from the books of the Duradundeshwar

T
8,00,000
1,40,000

60,000
4,60,000
1,00,000
3,20,000
3,00,000

90,000
2,80,000

2,00,000

3,60,000
80,000
3,80,000

24,000

56,000
1,60,000
6,20,000
1,52,000
68,000
1,00,000

20,000
2,00,000
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Other information : | _
a) Provide for rebate on bills discounted Rs. 10,000.
b) Write off depreciation on Building Rs. 12,000 and Furniture Rs. 8,000.

¢) Current deposit include Rs. 20,000 being debit balances representing
~ overdraft. '

- d) Bills for collection Rs. 1,40,000 and acceptances, endorsements
Rs. 1,00,000. - ’

Prepare the Balance Sheet in the prescribed form and schedule.

9. Following are the Balance Sheets of Geeta Ltd. and Sangeeta Ltd. on 31 32014 ;.

Liabilities Geeta Sangeeta Assets Geeta Sangeeta
 Ltd. Ltd. 0 ld. Ld
3 ¢ 3 q

Share Capital : | | Fixed Assets : |

Equity Shares - Goodwill 11,50,000 80,000
of Rs. 10 18,00,000 3,00,000 Land & Building 9,00,000 2,40,000

10% Preference ' Machineries 6,00,000 1,80,000
shares of Rs. 10 2,00000 -  Investments :

Reserve and Su rplus : o | Investments in

General Reserve 1,80,000 1,20,000 Sangeeta Ltd. _
P&L A/c on 1-4-2013 1,20,00_0 130,000 24000 shares  3,80,000 .

Current Years : | ' L.oans and Advances :
Profit | 3,00,000 1,20,000 Stock' 4,80,000 1,50,000
Current Iiabilitiés: - Debtors 3,00,000 1,60,000
Creditors _ 3,70,000 2,110,000 Bills Receivable 50,000 20,000 -
Bills payable | 80,000 70,000 Cash in hand 10,000 5,000
~ CashatBank 180,000 15,000
- 30,50,000 8,50,000 : '30,50,000 ‘ 8,50,000
B —
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10.

Additional informatibn :
a) Geeta Ltd. acquired shares in Sangeeta Ltd. as on 1-10-2013,

b) General Reserve of Sangeeta Ltd. on 1-4-2013 was Rs. 20,000.

~¢) Bills Payable of Sangeeta Ltd. include Rs. 40,000 accepted in favo_ui' of
Geeta Ltd. out of which Geeta Ltd. discounted bills worth Rs. 24,000.

| .d) Creditors of Sangeeta Ltd. include Rs. 1_,00,000 for goods supplied by

Geeta Ltd. at cost plus 25%. Half of the goods purchased are in the stock
of Sangeeta Ltd. : '

e) Machineries of Sangeeta Ltd. were undervalued by Rs. 30,000.

Prepare a consolidated Balance Sheet of Geeta Ltd. with its subsidiary
Sangeeta Ltd. on 31-3-2014.

_Thelfollov_ving is the Balance Sheet of Préveen Co. Ltd. as on 31-3-.2016 :
Liabilities Rs. Assets - Rs.
Share Capital o » Building - 2,50,000
Shares of Rs. 100 each _ Machinery 1,70,000
~ fully paid o 4,00,000 Fumiture | - 30,000
General Reéerve . ' 20,000 Debtors ’ 40,000
Workmens Profit Sharing fund 10,000 Stock 50,000
8% Debentures 1,00,000 Cash at Bank 10,000
Sundry Creditors 20,000

550,000 5,50,000

- The above company is obsorbed by Sunil Co. Ltd. The purchase consideration

being the discharge of 8% debentures at a premium of 5% by the issue of
9% debentures in Sunil Co. Ltd. and payment of Rs. 5 in cash and issue of
7 equity shares of Rs. 10 each fully paid at the market value of Rs. 15 per
share in exchange for every one share in the Praveen Co. Ltd. The expenses

~ of liquidation amounting to Rs. 5,000 are paid by Sunil Co. Ltd.

Prepare Realisation A/c and Shareholders A/c in the books of Praveen Co. Ltd.
Also give Journal Entries in the books of Sunil Co. Ltd. '
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SECTION-D
Case study (compulsory) : | _ o (1 x1 5=15)
11. Following is the Balance Sheet of Bangalore Ltd. as on 31-3-2015 :
Liabilities " Rs. Assets o Rs.
Share Capital _ ' Goodwill 4,00,000
2,00,000 Equity Shares Machinery 20,00,000
of Rs. 10 each fully paid 20,00,000 Stock ‘ 7,80,000
Bilis Payable 1,00,000. Cash 20,000
Sundry Creditors | 14,50,000 Profit and Loss A/c  2,00,000
Preliminary Expenses  1,00,000
Patents 50,000
35,50,000 ‘_ 35,50,000

Draft a suitable scheme for reduction of capital which would help the company
to re-organise on the following bases :

i) To write off goodwill, loss balance, preliminary expenses and patents
- completely.

ii) To depreciate machinery at 10%.
_iii) To reduce the value of stock to Rs. 7,30,000.

Alse give journal entries to implement the scheme and redraft the Balance Sheet.
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